v REEEZE

1. FEHR
(BT : %)
TH H 201 74HE 20 1 84 4 54
TG PE R R 4% =8 0.10 0.15 0.05
B OK R E R 4R R 2.24 3.58 1.34
TR PE Y WA 25 3 0. 09 0. 08 A0.01
G OR Y R R R 2.03 1.91 AO. 12

() 1. MEEREFISR =BT REE (EHRIEREZR) T X 100
2. ARG =R SUGA I E P X 100
3. MR YRR
=YRARE (BSI1HR) REE (EBRAEREY ZBR<) P X 100
4. EARLEMA S E = YRR (BI5IHR) WG AME 7R X 100

2. JTEE - IriER
(BT %)

X A 201 74 20 1 84 A Pk
. 1] PN 11.4 12.7 1.3
Ji=
Y 10. 4 12.3 1.9
B E1j FN 2.0 1.4 A0.6
ITaER
Y 1.5 1.4 AO. 1

K =EHekaEIréeiks X 100
Hryy) =8 e EREER, Ira IR X 100
R =FHimiERES fraiks X 100
HIHSEY)) =HRE A% R I IR i X 100

(E) 1. e
2. IrER
3. HFREs

(
(
(
4. BrREg (

,74,



[MEMO]

,75,



